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2008-09 District Competition

Match #18 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the measure of the tenth angle of a decagon if the other nine angles have a total measure of 1300 degrees?


ANSWER:  140o
2.
This television series had an unsuccessful spinoff, The Tortellis. Diane Chambers and Rebecca Howe were the love interests of off-again, on-again bar owner Sam Malone.  Bar regulars included house painter Norm Peterson and mailman Cliff Clavin. What 1980s sitcom spun off the show Frasier and was set mostly in a Boston bar? 


ANSWER: Cheers
3.
Discovered in 1878 by Louis-Antoine Ranvier, it can be supplied by oligodendrocytes or Schwann cells.  Damage to it can result in Guillain-Barre Syndrome and multiple sclerosis.  Name this phospholipid layer that surrounds axons or neurons.

ANSWER:
myelin sheath
4.
Leslie Groves was its overall director. Its end product was tested in the Trinity Test near Alamogordo, New Mexico. What undertaking, whose scientific director was J. Robert Oppenheimer, was America’s plan to build an atomic bomb? 

ANSWER: Manhattan Project
5.
He founded the Shield Society after joining the Self-Defense Forces. His works include Confessions of a Mask and the Sea of Fertility series. After an unsuccessful coup attempt on November 25, 1970, what writer committed seppuku? 

ANSWER: Yukio Mishima or Mishima Yukio

6.
It is not a separate disorder in the DSM-IV, but is a potential symptom of depression or schizophrenia, and can occur with drug overdoses. Echolalia, excessive movement, or no movement at all are representative of what state where external stimuli have no effect?

ANSWER: catatonia or catatonic
7.
He was the leader of the Union for a Popular Movement. He defeated Segolene Royal in April 2007 to assume his current job. Who married Carla Bruni in February 2008 and is the current President of France?

ANSWER: Nicholas Sarkozy
8.
Consisting of three species of the genus Latrodectus, they are venomous but their bites are rarely fatal to humans.  Name this type of spider known for a red hourglass on its back and the female eating the male after mating.

ANSWER:
black widow spider
9.
Renoir portrayed one held by the Boating Party. Edouard Manet had one attended by a nude woman and two fully-dressed men. What are these artistic events at which food is eaten outdoors? 

ANSWER: luncheon(s)

10.
He appears in the short stories ‘Too Many Have Lived’ and ‘They Can Only Hang You Once.’ He is sleeping with the wife of his partner, Miles Archer. What detective spars with Casper Gutman and Brigid O’Shaughnessy in The Maltese Falcon? 

ANSWER: Sam Spade
11.
In 2008, version 3 of this standard will be released with a maximum data transmission speed of 4.8 gigabits per second. What standard with a trident-shaped logo was designed to replace all legacy serial and parallel ports? 

ANSWER: Universal Serial Bus or USB

12.
This team has been in a steady decline since Ewing Kauffman died in 1993. It has won only one World Series, defeating the St. Louis Cardinals in 1985, but 2004, 2005, and 2006, saw 100-loss seasons in each of those years. What team was formed in 1969 in response to complaints about the departure of the Athletics made by a Missouri Senator? 


ANSWER: Kansas City Royals
13.
This war included the battles of Kesselsdorf and Fontenoy. The province of Silesia switched hands after it was ended by the Treaty of Aix-la-Chapelle. What war started when Frederick the Great invaded the country ruled by Maria Theresa? 

ANSWER: War of the Austrian Succession 

14.
This novel’s plot begins when Raymond dumps his Arab girlfriend. The girlfriend’s brother is shot by the protagonist, who had not cried at his mother’s funeral. The remorseless Meursault is the protagonist of what novel by Albert Camus?

ANSWER: The Stranger or L’etranger
15.
The national park associated with it is south of the Tamiami Trail. It is called a name meaning ‘Grassy Water’ by the Native Americans who lived in it for decades. Lake Okeechobee is the source for what swamp in southern Florida? 

ANSWER: Everglades
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What radio and TV show had characters that included Doc Adams, Miss Kitty Russell, and Marshal Matt Dillon?


ANSWER: Gunsmoke
1B.
What part of the brain consists of a vermis and two hemispheres and coordinates motor movements?

ANSWER:
cerebellum
2A.
What layer of the atmosphere is closest to the ground and is where clouds form? 

ANSWER:
troposphere
2B.
Consider the sentence, ‘I know the answer.’ What is that sentence in the conditional tense?


ANSWER: I would know the answer
3A.
Mount Marcy is the highest peak in what mountain range in northeastern New York? 


ANSWER: Adirondack
3B.
It was divested by McDonald’s in 2006. Steve Ells founded what fast casual Mexican restaurant chain in 1993? 


ANSWER: Chipotle
4A.
In what Faulkner short story has the title character has been sleeping with the corpse of Homer Barron for several decades? 


ANSWER: ‘A Rose for Emily’

4B.
Which Founding Father lived in Gunston Hall, a Potomac plantation, and was the ‘Father of the Bill of Rights?’


ANSWER: George Mason 

5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Hope gets a salary of $8.50 per hour with time and a half for any hours over 40 hours.  In a week in which she worked 47 hours, what was her total pay?


ANSWER:  $429.25
5B.  
THIS IS A 20-SECOND COMPUTATION QUESTION. Spencer takes 3 hours to paint a room and Rachel takes 7 hours. If they work together, how long will they take to paint one room?


ANSWER:  2 1/10 hours  or  2 hours and 6 minutes
6A.
What fruit is called a plátano (PLAH-tah-noh) in Spanish? 

ANSWER: banana(s) or plantain(s)

6B.
What commander of the Afrika Korps and commander of troops defending against D-Day was ordered to commit suicide in 1944? 


ANSWER: Erwin Rommel
7A.
What minor crime happens when a pedestrian crosses a street outside the crosswalk?

ANSWER: jaywalk(ing)

7B.
What folk singer wrote ‘If I Had a Hammer’ and ‘Turn, Turn, Turn!’ and is not related to the singer of ‘Old Time Rock and Roll’?


ANSWER: Pete Seeger
8A.
There are four classes of Mysteries recited in the Rosary prayers. Name any two of them. 


ANSWER: (any two of) Joyful, Sorrowful, Glorious, or Luminous
8B.
THIS IS A 10-SECOND COMPUTATION QUESTION. If you have 80 grams of a radioactive substance at 12 noon, and 10 grams at midnight, what is the half-life of the sample?

ANSWER:
4 hours or 240 minutes
9A.
What type of free energy is minimized when a system is in chemical equilibrium?

ANSWER:
Gibbs free energy

9B.
In Animal Farm, what pig, an allegory to Leon Trotsky, was overthrown by Napoleon?


ANSWER: Snowball

10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.   Solve this logarithmic equation for X:  The log base X of 1/2 equals ¼.


ANSWER:  X = 1/16
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  A right triangle and a square have the same area.  The sides of the triangle are 5 feet, 12 feet, and 13 feet.  In simplest radical form, how long is a diagonal of the square?  


ANSWER:  2 square root of 15 feet
Third period, 15 toss-ups, 10 points each

1.
The title character has a half-brother, Yevgraf, and a wife, Tonya Gromeko. The title character refuses Viktor Komarovsky’s offer to leave Russia, despite being in love with Lara Antipova. What is this novel set during the Russian Revolution by Boris Pasternak? 

ANSWER: Doctor Zhivago
2.
Some groups in this style, such as the Vocal Majority and Alexandria Harmonizers, have dozens of members and not four. The ‘ringing’ chord, or the ‘fifth voice’ is its main feature. What musical style declined in the 18th century due to the popularity of wigs? 

ANSWER: barbershop quartets

3.
A microtiter plate is many of these items arranged in a single plastic sheet. They were invented in 1887 and named for their inventor, an assistant to Robert Koch the microbiologist. What are these glass bowls that are filled with agar to grow bacteria? 

ANSWER: Petri dish
4.
This seven-letter word comes from Latin words meaning ‘worth’ and ‘to make.’ It can refer to making something dishonorable honorable, as in replying to a base question. What word also means to confer an honor or someone or something? 

ANSWER: dignify
5.
Datis, the losing commander, died in this battle. It was won when Miltiades double enveloped the enemy. This battle, fought in 490 BC, marked the failure of the first Persian attempt to conquer Greece. What was this battle fought 26 miles from Athens? 

ANSWER: Battle of Marathon
6.
The title character is hanged at the end of the novel on order of Captain Vere. His death sentence was for the murder of Master-at-Arms Claggart of the HMS Bellipotent. What is this novella published after the death of its author, Herman Melville? 

ANSWER: Billy Budd, Sailor or Billy Budd, Foretopman

7.
The second was called the ‘Arrow’ War, while the first started when Lin Zexu became port commissioner of Canton. What wars between the United Kingdom and China started over China’s attempt to stop British drug smuggling? 

ANSWER: Opium War(s) (accept Anglo-Chinese Wars before said in the question)

8.
It applies to indistinguishable particles that do not obey the Pauli exclusion principle.  First applied to photons and later to atoms, it allows the formation of a namesake condensate.  Name this set of statistics named after an Indian and a German.

ANSWER:
Bose-Einstein statistics

9.
He treated the satyr Silenus hospitably, and so was given one wish by the god Dionysus. That wish, when the unintended consequences were revealed, was reversed by his bathing in the River Pactolus. What Phrygian king could turn things into gold with a touch?

ANSWER: King Midas
10.
His work on tartaric acid crystals established molecular chirality.  He developed vaccines for anthrax and rabies and disproved spontaneous generation.  Name this French father of germ theory whose namesake process is still used on milk.

ANSWER:
Louis Pasteur
11.
This six-letter word comes to us from Greek words meaning ‘well’ and ‘words.’ They can be given, contrary to popular belief, on occasions like birthdays and anniversaries. What word describes a speech given in praise of someone recently deceased? 

ANSWER: eulogy
12.
In 2006, it suffered a rare setback when it pulled out of the German retail market. In 1995, it opened a store in Vermont, its 50th state. It started as a Ben Franklin retail franchisee in Benton, Arkansas. What is this store, now the world’s largest employer? 

ANSWER: Wal-Mart
13.
Their size peaks at puberty and removal methods include harmonic scalpel, microdebrider, and dissection and snare.  Parts of them include palatine, lingual, and adenoids.  Name these areas of lymphoid tissue in the throat that are often removed.

ANSWER:
tonsil(s)

14.
He founded the Holy Club at Oxford. As a pastor in Savannah, Georgia, and London, he sought ‘Christian perfection.’ Unlike other reformers, he did not leave the Anglican Church. What brother of hymnwriter Charles founded the Methodist Church?  

ANSWER: John Wesley
15.
THIS IS A 10-SECOND COMPUTATION QUESTION.  136 is what percent of 400?


ANSWER:  34%
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Riots in July 1863 occurred in New York City to oppose it. The Gates Commission ended in 1972, although the door to reinstating it was opened in 1980 with the Selective Service System. What is this term for the United States’ system of wartime conscription? 

ANSWER: the draft (accept conscription before it is said)

2.
This function’s value at x is the Taylor series 1 – x squared over two factorial + x to the fourth over 4 factorial – x to the sixth over 6 factorial, repeated ad infinitum. It is the x coordinate of a point on the unit circle. The secant is the reciprocal of what trigonometric function that is the adjacent leg over the hypotenuse? 


ANSWER: cosine

3.
In 1984, the discovery of the Sagittarius Dwarf galaxy displaced their previous claim to fame. What galaxies were discovered and named for the explorer who noticed them in 1521 while circumnavigating the world? 

ANSWER: Magellanic Clouds
4.
He removed urban opponents in Operation Murambatsvina and sent ‘war veterans’ under Chenjerai Hunzvi to seize white-owned farms. The Movement for Democratic Change is the opposition to what leader of the ZANU-PF and President of Zimbabwe?

ANSWER: Robert Mugabe
5.
Subtitled The Saga of an American Family, its author acknowledged lifting much of it from Harold Courlander’s The African. Its claim that the author was descended from a man named Kunta Kinte, has also been questioned. What is this novel by Alex Haley? 

ANSWER: Roots
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